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commandwindow
clear
clc
$ITERL
A=(1,1,-2,1,3,-1,;2,-1,1,2,1,-3;1,3,-3,-1,2,1;5,2,-1,-1,2,1;-3,-1,2,3,1,3;4,3,1,-6,-3,-2]
$X=[T1;T2;T3;T4;T5;To]
B=[4;20;- -3;16;-27]
%t—lnv(A)*B
Fl= A(2,1)/A(1,1)
F2= A(3,1)/A(1,1)
F3= A(4,1)/A(1,1)
F4= A(5,1)/A(1,1)
F5= A(6,1)/A(1,1)
Al=[A(1,1) A(1,2) A(1,3) A(1l,4) A(1,5) A(1,6);
A(2,1)-(F1*A(1, 1)) A(2,2)-(F1*A(1,2)) A(2,3)-(F1*A(1,3)) A(2,4)-(F1*A(1,4)) A(2,5)—¢/
(F1*A(1,5)) A(2,6)-(F1*A(1,06));
A(3,1)-(F2*A(1,1)) A(3,2)-(F2*A(1,2)) A(3,3)-(F2*A(1,3)) A(3,4)-(F2*A(1,4)) A(3,5)—¢'
(F2*A(1,5)) A(3,6)-(F2*A(1,6));
A(4,1)-(F3*A(1,1)) A(4,2)-(F3*A(1,2)) A(4,3)-(F3*A(1,3)) A(4,4)-(F3*A(1,4)) A(4,5)-¢
(F3*A(1,5)) A(4,6)-(F3*A(1,06));
A(5,1)-(F4*A(1,1)) A(5,2)-(F4*A(1,2)) A(5,3)-(F4*A(1,3)) A(5,4)-(F4*A(1,4)) A(5,5)-¢
(F4*A(1,5)) A(5,6)-(F4*A(1,06));
A(6,1)-(F5*A(1,1)) A(6,2)-(F5*A(1,2)) A(6,3)-(F5*A(1,3)) A(6,4)-(F5*A(1,4)) A(6,5)—¢/
(F5*A(1,5)) A(6,6)—-(F5*A(1,6))]
B1=[B(1,1);
B(2,1)-(F1*B(1,1));
B(3,1)-(F2*B(1,1));
B(4,1)-(F3*B(1,1));
B(5,1)-(F4*B(1,1));
B(6,1)-(F5*B(1,1))]
$ITER2
G1=A1 ( /Al 2,2)
G2= Al ( ) /A1 (2,2)
G3= Al ( ) /A1 (2,2)
G4= Al ( ) /A1 (2,2)
A2= [ 1(1,1) Al(1,2) Al(1,3) Al(1l,4) Al(1,5) Al(l,6);
1(2,1) Al(2,2) Al(2,3) Al(2,4) Al(2,5) Al(2,6);
(3,1) Al(3,2)-(G1l*Al(2,2)) A1(3,3)—(G1*A1( ,3)) A1(3,4)-(GLl*A1(2,4)) Al(3,5)-(Gl*AlV
(2,5)) 1(3,6)-(G1*A1(2,6));
( 1) A1(4,2)-(G2*A1(2,2)) Al1(4,3)-(G2*A1(2,3)) Al(4,4)-(G2*A1(2,4)) A1(4,5)—(G2*A1¢/
(2,5)) Al(4,6) (G2*A1(2,06));
( 1) A1(5,2)-(G3*A1(2,2)) Al1(5,3)-(G3*A1(2,3)) Al(5,4)-(G3*A1(2,4)) A1(5,5)—(G3*A1¢/
(2,5)) (5,6) (G3*Al1(2,06));
( 1) A1(6,2)-(G4*A1(2,2)) Al(6,3)-(G4*A1(2,3)) Al(6,4)-(G4*A1(2,4)) A1(6,5)—(G4*A12'
(2,5)) (6,6) (G4*A1(2,6)) ]
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B1(3,1)-(G1*B1(2,1));
B1(4,1)-(G2*B1(2,1));
B1(5,1)-(G3*B1(2,1));
B1(6,1)-(G4*B1(2,1))]

ITER3
A2 (4,3)/A2(3,3)
H2=A2 (5,3) /A2 (3, 3)
A2(6,3)/A2(3,3)
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A4 (1,6);
A4 (2,6);

A4 (1,5)
A4 (2,5)

A4 (1,4)
A4 (2,4)

A4 (1,3)
A4 (2,3)

A4 (1,2)
A4 (2,2)

sITERS
J1=A4 (6,5) /A4 (5,5)
A5=[A4(1,1)

A4 (2,1)
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A4
A4
A4
A4
B4
B4
B4
B4
B4
B4

*T5)) /A5 (4,4)

*T5) - (A5(3,4)*T4)) /A5(3,3)

*T5) - (A5(2,4)*T4)-(A5(2,3)*T3))/A5(2,2)

*T5) - (A5(1,4)*T4)-(A5(1,3)*T3)-(A5(1,2)*T2))/A5(1,1)
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inverse method

inv (A) *B
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